
Components 

1 pc

1 set W

E1340091, E1340092, E1340093 

E1340097, E1340098, E1340099 

1 set 

W

W

L
R

L

R

52010 FULL/QUEEN AND 
KING/CALIFORNIA KING HEADBOARDS

Hardware

Page 1

 1 pc  

M4

Q

 4 pcs 

M8X60 

S

 8 pcs 

M8

T

 4 pcs 

M8

U

 1 pc  

M5

R

 4 pcs 

M8

V

 1 pcs 

X

6 pcs 

M6X30 

K

  6pcs 

M6X45 

M

12 pcs 

M6

O

 6 pcs 

M6

P



Page 2



Page 3

L

R



 6 pcs M6X30

1

Q

K

O

K O+

 6 pcs M6X45 

M

P

M

Q

O

+ P O+

A�ach “P”and “O” washers to “M” bolt. 
Connect the leg “B” to back of headboard “A”. 

Use the bolts to a�ach.

2

Page 4

A�ach “O” washer to “K” bolt. Use the “K” bolts 
to connect the wing “W” to the ends of the 
headboard “A”. Tighten the “K” bolts.

L

R

W

W



3

Page 5

Side rail of 
metal frame

R

S
U

T

T
V

X

To a�ach to a bolt-on bed frame, use the slots in the headboard legs. 

For King/California King Headboards: Use the outside slots for King size, and the inside slots for 

California King size. 

For Full/Queen Headboards: Use the outside slots for Queen size, and the inside slots for Full size.

 

Hold the bolts steady with the “R” Allen wrench. A�ach a “V” nut and “T” washer to the other 

side of the bolt as shown. Tighten the nut against the bed frame bracket with the “X” wrench. 

(Bed frame is not included.)

A�ach the headboard brackets at the end of the bed frame to the slots in the headboard legs 

using a�achment hardware. Slide “U” and “T” washers onto “S” bolts. Then, from the back side of 

the headboard, insert the bolts through the slots in the leg for your size bed and into the slots in 

the headboard bracket on the bed frame.



Page 6

CAUTION:


	页 1
	页 2
	页 3
	页 4
	页 5
	页 6

